
Kraftfahrt-Bundesamt 
DE-24932 Flensburg 

 
 

 
 
 
 

ALLGEMEINE  BETRIEBSERLAUBNIS  (ABE) 
 
 
 
nach § 22 in Verbindung mit § 20 Straßenverkehrs-Zulassungs-Ordnung (StVZO) in der 
Fassung der Bekanntmachung vom 26.04.2012 (BGBl I S.679)  
 
 
Nummer der ABE: 
 
 
 

31384 

Gerät: 
 
 
 

Radabdeckung für KRad 

Typ: 
 
 
 

Type 1 

Inhaber der ABE    
und Hersteller:     
 

Powerbronze Ltd.  
Littlehampton, West Sussex, BN16 3LF England    
 

 
 
 
Für die oben bezeichneten reihenweise zu fertigenden oder gefertigten Geräte wird diese 
Genehmigung mit folgender Maßgabe erteilt: 
 
 
Die genehmigte Einrichtung erhält das Typzeichen 
 
 

KBA 31384 
 
 
Dieses von Amts wegen zugeteilte Zeichen ist auf jedem Stück der laufenden Fertigung in 
der vorstehenden Anordnung dauerhaft und jederzeit von außen gut lesbar anzubringen. 
Zeichen, die zu Verwechslungen mit einem amtlichen Typzeichen Anlass geben können, 
dürfen nicht angebracht werden. 
  



Kraftfahrt-Bundesamt 
DE-24932 Flensburg 

 
 

 
2 

Nummer der ABE: 31384  
 
Die Ketten- und Radabdeckungen für KRad, Typ Type 1, dürfen in den in den beiliegenden 
Prüfunterlagen beschriebenen Ausführungen nur zum Anbau an den dort aufgeführten 
Krafträdern unter den angegebenen Bedingungen feilgeboten werden. 
 
Bei Verwendung der Geräte an den in den beiliegenden Prüfunterlagen beschriebenen 
Krafträdern, die mit Einzelbetriebserlaubnis (EBE) nach §21 StVZO in den Verkehr gelangt 
sind, ist eine unverzügliche Überprüfung des Ein- oder Anbaus der Fahrzeugteile durch 
einen amtlich anerkannten Sachverständigen oder Prüfer für den Kraftfahrzeugverkehr oder 
durch einen Prüfingenieur einer Überwachungsorganisation nach Nummer 4 der Anlage VIIIb 
zur StVZO durchzuführen. 
 
Der ordnungsgemäße Ein- oder Anbau ist gemäß §22 Absatz 1 Satz 5 bei der Überprüfung 
mit positivem Ergebnis zu bestätigen. Nach durchgeführter Abnahme ist die ausgestellte 
Bestätigung mit dieser ABE und den Fahrzeugpapieren mitzuführen und den zuständigen 
Personen auf Verlangen auszuhändigen. Letzteres entfällt nach Berichtigung der 
Fahrzeugpapiere. 
 
In einer mitzuliefernden Anbauanweisung sind die Bezieher auf den eingeschränkten 
Verwendungsbereich hinzuweisen. 
 
Der Anbau hat nach dieser Anweisung zu erfolgen. 
 
An jeder Ketten- und Radabdeckung für KRad muß an einer gegen Beschädigung 
geschützten, auch nach dem Anbau sichtbaren Stelle gut lesbar und dauerhaft ein 
Fabrikschild angebracht sein, das folgende Angaben enthält: 
 
Hersteller oder Herstellerzeichen 
Typ,   
Ausführung und   
Typzeichen 
 
Statt der Kennzeichnung der Geräte mit dem Fabrikschild können die geforderten Angaben 
auch eingeprägt sein. 
 
Im Übrigen gelten die im beiliegenden Gutachten nebst Anlagen der TÜV SÜD Auto Service 
GmbH, München, vom 26.05.2015 festgehaltenen Angaben. 
 
  



Kraftfahrt-Bundesamt 
DE-24932 Flensburg 

 
 

 
3 

Nummer der ABE: 31384  
 
Das geprüfte Muster ist so aufzubewahren, dass es noch fünf Jahre nach Erlöschen der ABE 
in zweifelsfreiem Zustand vorgewiesen werden kann. 
 
Flensburg, 08.06.2015   
Im Auftrag 
 
 
 
 
 
 
 
 
 
 
 
Anlagen: 
 
Nebenbestimmungen und Rechtsbehelfsbelehrung 
1 Gutachten Nr. 15-00067-CM-GBM-00 



Kraftfahrt-Bundesamt 
DE-24932 Flensburg 

 
 

 
Nummer der ABE: 31384  
 
- Anlage - 
 
Nebenbestimmungen und Rechtsbehelfsbelehrung 
 
Nebenbestimmungen 
 
Die Einzelerzeugnisse der reihenweisen Fertigung müssen mit den 
Genehmigungsunterlagen genau übereinstimmen. Mit dem zugeteilten 
Typzeichen/Prüfzeichen dürfen die Fahrzeugteile nur gekennzeichnet werden, die den 
Genehmigungsunterlagen in jeder Hinsicht entsprechen. 
Änderungen an den Einzelerzeugnissen sind nur mit ausdrücklicher Zustimmung des 
Kraftfahrt-Bundesamtes gestattet.  
Änderungen der Firmenbezeichnung, der Anschrift und der Fertigungsstätten sowie eines bei 
der Erteilung der Genehmigung benannten Zustellungsbevollmächtigten oder 
bevollmächtigten Vertreters sind dem Kraftfahrt-Bundesamt unverzüglich mitzuteilen. 
 
Das Kraftfahrt-Bundesamt ist unverzüglich zu benachrichtigen, wenn die reihenweise 
Fertigung oder der Vertrieb der genehmigten Einrichtung innerhalb eines Jahres oder 
endgültig oder länger als ein Jahr eingestellt wird. Die Aufnahme der Fertigung oder des 
Vertriebs ist dann dem Kraftfahrt-Bundesamt unaufgefordert innerhalb eines Monats 
mitzuteilen. 
Verstöße gegen diese Bestimmungen können zum Widerruf der Genehmigung führen und 
können überdies strafrechtlich verfolgt werden.  
 
Die Genehmigung erlischt, wenn sie zurückgegeben oder entzogen wird, oder der 
genehmigte Typ den Rechtsvorschriften nicht mehr entspricht. Der Widerruf kann 
ausgesprochen werden, wenn die für die Erteilung und den Bestand der Genehmigung 
geforderten Voraussetzungen nicht mehr bestehen, wenn der Genehmigungsinhaber gegen 
die mit der Genehmigung verbundenen Pflichten – auch soweit sie sich aus den zu dieser 
Genehmigung zugeordneten besonderen Auflagen ergeben - verstößt oder wenn sich 
herausstellt, dass der genehmigte Typ den Erfordernissen der Verkehrssicherheit oder des 
Umweltschutzes nicht entspricht. 
 
Das Kraftfahrt-Bundesamt kann jederzeit die ordnungsgemäße Ausübung der durch diese 
Genehmigung verliehenen Befugnisse, insbesondere die genehmigungsgerechte Fertigung 
sowie die Maßnahmen zur Übereinstimmung der Produktion, nachprüfen. Es kann zu diesem 
Zweck Proben entnehmen oder entnehmen lassen. Dem Kraftfahrt-Bundesamt und/oder 
seinen Beauftragten ist ungehinderter Zutritt zu Produktions- und Lagerstätten zu gewähren.  
 
Die mit der Erteilung dieser Genehmigung verliehenen Befugnisse sind nicht übertragbar. 
Schutzrechte Dritter werden durch diese Genehmigung nicht berührt. 
 
 
 
Rechtsbehelfsbelehrung 
 
Gegen diese Genehmigung kann innerhalb eines Monats nach Bekanntgabe Widerspruch  
erhoben werden. Der Widerspruch ist beim Kraftfahrt-Bundesamt, Fördestraße 16,  
DE-24944 Flensburg, schriftlich oder zur Niederschrift einzulegen. 

































































































































































































































































































































 

Page 1 of 1 

 

201-H104-KIT (CARBON FIBRE/ABS)  

CBR 600RR 2005-15 

HUGGER 
 

When fitting your Powerbronze product it will help you to use your motorcycle 

manual for disassembly and re-assembly of your motorcycle.  You will need a set of 

spanners, sockets, Allan keys & screwdrivers. 

As a general rule a few moments checking the parts list and familiarising you with the 

kit will make fitting easier in the long run.  Remember whenever a part is fixed using 

several nuts, bolts or screws they should be left loose until they are all in place then 

tightened evenly. 

 

1). Remove the original hugger from the swinging arm by removing the three fixing 

bolts. 

 

2). Remove film on rear 

hugger. 

 

3). Fit grommets into holes on 

rear hugger and spacers inside 

the grommets. 

 

4). Fit the hugger onto the 

swinging arm using the 

original fixing bolts.  For 07 

bikes use fixing bolts 

provided. Ensure right hand 

bolt also locates the brake 

hose guide. See fig 1. 
 

5). Check clearance between 

hugger and tyre. 
 

MAKE SURE THERE IS ENOUGH CLEARANCE BETWEEN TYRE & HUGGER. 
 

IMPORTANT: 

Always check alignment of rear hugger and mounting bolt tension periodically. 
Parts List 

ITEM DESCRIPTION PART NO.  BIN QTY 

1 HUGGER SHELL CBR600RR  1 

2 SPACER F036 34 3 

3 CUSHION GROMMET F029  3 

4 M5 x 25 Bolts  146 3 

5 M5 Washers  4 3 
 



Issue 2A 07/09 

 

201-H103-KIT (CARBON FIBRE/ABS) 

CBR 1000RR 04-07 HUGGER 
 
When fitting your Powerbronze product it will help you to use your motorcycle manual for disassembly 

and re-assembly of your motorcycle.  You will need a set of spanners, sockets, allen keys & 

screwdrivers. 

As a general rule a few moments checking the parts list and familiarising yourself with the kit will 

make fitting easier in the long run.  Remember whenever a part is fixed using several nuts, bolts or 

screws they should be left loose until they are all in place then tightened evenly. 
 
1). Remove the original hugger from the swinging arm by removing the three fixing bolts. 

2). Remove film on rear hugger. 

3). Fit grommets into holes on rear hugger and spacers inside the grommets. 

  
4). Fit bracket A0054Z underneath brake line retaining clip using M5 x 25 socket screw and form C 

(small) washer supplied see fig 1. 

5). Position Powerbronze Hugger onto swing arm. Use original fixing bolt in centre and M6 x 20 

socket screw with flange nut supplied onto bracket. Position form D (large) washer between Hugger 

and chain guard mounting. Fit Hugger to chain guard mounting using M5 x 25 socket screw with form 

C (small) washer see fig 2. 

6). Check clearance between hugger and tyre. 

MAKE SURE THERE IS ENOUGH CLEARANCE BETWEEN TYRE & HUGGER. 

IMPORTANT: 

Always check alignment of rear hugger and mounting bolt tension periodically. 

Parts List 
ITEM DESCRIPTION PART NO.  BIN QTY 

1 HUGGER SHELL CBR1000 04  1 

2 SPACER F036 34 3 

3 CUSHION GROMMET F029 135 3 

4 SOCKET SCREW M5 X 25  146 2 

5 WASHER M5 FORM C  147 2 

6 WASHER M5 FORM D  5 1 

7 BRACKET A0054Z  1 

8 SOCKET SCREW M6 X 20  31 1 

9 FLANGE NUT M6  17 1 

 

 
www.powerbronze.co.uk 

Telephone: 44 (0)1903 783222   Fax: 44 (0)1903 783333  sales@powerbronze.co.uk Powerbronze 

International Ltd reserve the right to change any specification without notice. These instructions are  Copyright of Powerbronze International Ltd 

and should not be reproduced in any form without permission. 



Issue 1 09/04 

Page 1 of 1 

 

201-H102-KIT (CARBON FIBRE/ABS) 

CBR 900RR 02-03 
 

When fitting your Powerbronze product it will help you to use your motorcycle 

manual for disassembly and re-assembly of your motorcycle.  You will need a set of 

spanners, sockets, allen keys & screwdrivers. 

As a general rule a few moments checking the parts list and familiarising yourself 

with the kit will make fitting easier in the long run.  Remember whenever a part is 

fixed using several nuts, bolts or screws they should be left loose until they are all in 

place then tightened evenly. 

 

1). Remove the original hugger from the swinging arm by removing the three fixing 

bolts. 

 

2). Remove film on 

rear hugger. 

 

3). Fit grommets into 

holes on rear hugger 

and spacers inside 

the grommets. 

 

4). Fit the hugger 

onto the swinging 

arm using the 

original fixing bolts.  

 

5). Check clearance 

between hugger and 

tyre. 

 

 

MAKE SURE THERE IS ENOUGH CLEARANCE BETWEEN TYRE & 

HUGGER. 
 

IMPORTANT: 

Always check alignment of rear hugger and mounting bolt tension periodically. 

 
 

Parts List 

ITEM DESCRIPTION PART NO.  D QTY 

1 HUGGER SHELL   1 

2 SPACER F036 34 3 

3 CUSHION GROMMET F029 135 3 
 



Issue 2A 07/09 

Page 1 of 1 

 

201-H101-KIT (CARBON FIBRE/ABS) 

CBR 600RR 2003-04 HUGGER 
 

When fitting your Powerbronze product it will help you to use your motorcycle 

manual for disassembly and re-assembly of your motorcycle.  You will need a set of 

spanners, sockets, allen keys & screwdrivers. 

As a general rule a few moments checking the parts list and familiarising yourself 

with the kit will make fitting easier in the long run.  Remember whenever a part is 

fixed using several nuts, bolts or screws they should be left loose until they are all in 

place then tightened evenly. 

 

1). Remove the original hugger from the swinging arm by removing the three fixing 

bolts. 

 

2). Remove film on rear 

hugger. 

 

3). Fit grommets into holes on 

rear hugger and spacers inside 

the grommets. 

 

4). Fit the hugger onto the 

swinging arm using the 

original fixing bolts. Ensure 

right hand bolt also locates the 

brake hose guide. See fig 1. 

 

5). Check clearance between 

hugger and tyre. 

 

 

MAKE SURE THERE IS ENOUGH CLEARANCE BETWEEN TYRE & 

HUGGER. 
 

IMPORTANT: 

Always check alignment of rear hugger and mounting bolt tension periodically. 

 

 

Parts List 

ITEM DESCRIPTION PART NO.  BIN QTY 

1 HUGGER SHELL CBR600RR  1 

2 SPACER F036 34 3 

3 CUSHION GROMMET F029 135 3 
 



 

Page 1 of 1 

 

201-D102 HUGGER 
1199 PANIGALE 12-15 

 
When fitting your Powerbronze product it will help you to use your motorcycle manual for disassembly and 
re-assembly of your motorcycle.  You will need a set of spanners, sockets, Allan keys & screwdrivers. 
As a general rule a few moments checking the parts list and familiarising you with the kit will make fitting 
easier in the long run.  Remember whenever a part is fixed using several nuts, bolts or screws they should 
be left loose until they are all in place then tightened evenly. 
 
1). Remove the original hugger from 
the swinging arm by removing the 
three fixing bolts. 
 
2). Remove film on rear hugger. 
 
3). Fit grommets into holes on rear 
hugger and spacers inside the 
grommets. 
 
4). Fit the hugger onto the swinging 
arm using the original fixing bolts.  
For 07 bikes use fixing bolts 
provided. Ensure right hand bolt also 
locates the brake hose guide. See fig 1. 
 

5). Check clearance between hugger and tyre. 
 

MAKE SURE THERE IS ENOUGH CLEARANCE BETWEEN TYRE & HUGGER. 
 
IMPORTANT: 
Always check alignment of rear hugger and mounting bolt tension periodically. 
 
Parts List 

ITEM DESCRIPTION PART NO.  BIN QTY 

1 HUGGER SHELL 1199 PANIGALE  1 

2 SPACER F036 34 3 

3 CUSHION GROMMET F029  3 

4 M5 x 25 Bolts  146 3 

5 M5 Washers  4 3 

 

 











  Issue 1 03/10 

NOTE: Where adhesive is applied it is very important to ensure the bonding surface is clean and dry. 

The temperature must not be below 15
oc

 to obtain a good bond. Allow 72hrs before use to 

ensure full bond strength is obtained. 

 

 

 

 

 

 

 

www.powerbronze.co.uk 

 

Telephone: 44 (0)1903 783222   Fax: 44 (0)1903 783333  sales@powerbronze.co.uk 
Powerbronze International Ltd reserve the right to change any specification without notice. These instructions are  Copyright of Powerbronze 

International Ltd and should not be reproduced in any form without permission. 

 

. 

 

 

 

 

 

 

 

 

 
 


	Powerbronz_15-00067-CM-GBM-00_ABE Type 1_NG00_engl_d_report.pdf
	Gutachten zur Erteilung einer Allgemeinen Betriebserlaubnis nach § 22 StVZO
	ABE Nr. KBA 31384
	1. Allgemeine Angaben / General Information
	2. Durchgeführte Prüfungen / Performed tests
	4. Prüfergebnis / Test result
	6. Anlagen / Enclosures
	Y:\KRAD KOMPONENTEN\Verkleidungen\Powerbronce\Carbon Parts\Type 1\ABE Type 1_NG00_engl_d.docx
	vorab_31384.pdf
	1. Important information on using this information sheet
	2. General information
	2.1 Definition of terms for this information sheet
	2.2 Index of sections and pre-printed forms
	2.3 Overview of the applicable sections of this information sheet 
	2.3.1 International type-approvals issued in accordance with statutory EU or ECE regulations  
	2.3.2 National type-approval in accordance with the StVZO (National vehicle safety standard)


	3. Rights and obligations of type-approval holders
	4. Basic requirements
	4.1 Application for type-approval by companies domiciled outside Germany 
	4.2 Application for type-approval by companies domiciled in Germany

	5. Verification of the quality assurance system and conformity of production 
	5.1 Alternative 1
	5.2 Alternative 2
	5.3 Fees and charges

	6. Notes on recognition as manufacturer in the case of external manufacture
	7. Obtaining a national type-approval through an exclusive distributor or an authorised representative of the producer  
	7.1 What are national type-approvals granted for?
	7.2 Who may hold a national type-approval?
	7.3 Who is responsible for the obligations associated with the type-approval?

	8. Type-approval application by proxy vis-à-vis the KBA
	9. Notes on filing the application

	mab_nur_antrag_pdf_en.pdf
	1. Important information on using this information sheet
	2. General information
	2.1 Definition of terms for this information sheet
	2.2 Index of sections and pre-printed forms
	2.3 Overview of the applicable sections of this information sheet 
	2.3.1 International type-approvals issued in accordance with statutory EU or ECE regulations  
	2.3.2 National type-approval in accordance with the StVZO (National vehicle safety standard)


	3. Rights and obligations of type-approval holders
	4. Basic requirements
	4.1 Application for type-approval by companies domiciled outside Germany 
	4.2 Application for type-approval by companies domiciled in Germany

	5. Verification of the quality assurance system and conformity of production 
	5.1 Alternative 1
	5.2 Alternative 2
	5.3 Fees and charges

	6. Notes on recognition as manufacturer in the case of external manufacture
	7. Obtaining a national type-approval through an exclusive distributor or an authorised representative of the producer  
	7.1 What are national type-approvals granted for?
	7.2 Who may hold a national type-approval?
	7.3 Who is responsible for the obligations associated with the type-approval?

	8. Type-approval application by proxy vis-à-vis the KBA
	9. Notes on filing the application





